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1. A point moves on the x-axis in such a way that its velocity at time f, (12 0) is given by v = . At what
value of 7 does v attain its maximum? (No calculator) ,.. j’,' +'
1 ,/ 3
A 1 B. e? ! C. ¢ D. ¢ There is no mammum value for v.
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2. The derivative of f(x) = %———%—dlldms 1lspmdxxmum value at x = { / b / N ”()
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3. The absolute maximum value of f(x) =x’-3x2+120n thc closed interval [ -2,4| occum atx=
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4. The volume of a cylindrical tin can with a top and bottom is to be 167 cubic inches, If a r?in T?
amount of tin is to be used to construct the can, what must be the height, in inches, of the Cany+ (7
(No Calculator) -2 1=
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5. Ify=2x-8, what is the minimum value of the product xy? ~fel24l2
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M= Q. W= =4

6. The maximum acceleration attamcd on the interval, 0 <t <3 by the pdmclc whmc velocity
v)=£-32+12+4. a (L) =bt"— AL E S

(No calculator) )=t o = O L= { (4 |
B = 2 40  J1-9742%04 Y4
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The derivative of a function f is defined by )
[ g(x) for —-4<x<0 r

fi(x)=4"""
l5o*/3 -3 for 0<x<4 K /\
- 0 -

The graph of the continuous function f ’_ shown in the figure above. has
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y-intercepts at v = =2 and x =3 lu(—,—). The graph of g on =4 S x S0
~‘ - =

is a semicircle. and £(0) = 5. Graph of

a. For -4 < x <4, find all values of x at which the graph of f has a point of inflection. Justify your answer.
3l et ‘ ’ NI
‘ ()_m___ . ’})E/\OYQ/ - ’// p; 7 ,,f )y e & f)c)‘/:
_{_\ o) , { J | | 2
T e - 10 2 X8 Ve . p) J o (/y" C/ Q/ -;G‘O [ P48 G

y=-&, £'(x)ooes re3 S0 pO<,

N A ~ )
(O-/f O L'"x)aocss P S -0 oA /) -
\ ——

b. For -4 < x <4, find the value of x at which f has an absolute maximum. Justify your answer.
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9. The rate at which people enter an auditorium for a rock concert is modeled by the function R given by R(1) =

138072 — 6757 for 0 <t <25 R(1) is measured in people per hour. No one is in the auditorium at time £ = 0,
when the doors open. The doors close and the concert begins at time { = 2.

w‘ Find the time when the rate at which people enter the auditorium is a maximum. Justify your answer.

R'(+)=2760+ —102‘5{;‘” (l)
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